Student		_
Number:		
Class:		



TRIAL HIGHER SCHOOL CERTIFICATE EXAMINATION 2016

MATHEMATICS EXTENSION 2

General Instructions:

- · Reading Time: 5 minutes.
- Working Time: 3 hours.
- Write in black pen.
- · Board approved calculators & templates may be used
- A Reference Sheet is provided.
- In Questions 11-16, show all relevant mathematical reasoning and/or calculations.
- Marks may not be awarded for careless or badly arranged working.

Total Marks 100

Section I: 10 marks

- Attempt Question 1 10.
- Answer on the Multiple Choice answer sheet provided.
- Allow about 15 minutes for this section.

Section II: 90 Marks

- Attempt Question 11-16
- Answer on lined paper provided. Start a new page for each new question.
- Allow about 2 hours & 45 minutes for this section.

The answers to all questions are to be returned in separate *stapled* bundles clearly labelled Question 11, Question 12, etc. Each question must show your Candidate Number.

Section I

10 Marks

Attempt Questions 1 - 10. Mark your answers on the sheet provided. Allow about 15 minutes for this section.

1. The complex equation |z - 3 + 2i| = |z + 3| can be expressed in Cartesian form as:

(A) y = 3x - 1 (B) $y = x^2 + 1$ (C) y = 3 - x (D) y = 1 - 3x

2. A particle moves along a straight line with an acceleration of $\frac{2}{v}$ m/s², where v m/s is the velocity at any instant. The initial velocity of the particle is -1 m/s. The particle will move to the

- (A) Left increasing in speed
- (C) Right increasing in speed

- (B) Left, stop, then move to the right
- (D) Right, stop, then move to the left

3. Using an appropriate substitution, then $\int e^{2x} \sqrt{e^x - 1} \, dx$ is equivalent to:

(A)
$$\int (u^3 - u) du$$
 (B) $\int (u^3 + u) du$ (C) $\int \left(u^{\frac{3}{2}} - u^{\frac{1}{2}}\right) du$ (D) $\int \left(u^{\frac{3}{2}} + u^{\frac{1}{2}}\right) du$

4. When factorised, $x^2 + 6x + 1$ is equal to:

(A)
$$(x + 3 + 2\sqrt{2})(x + 3 - 2\sqrt{2})$$

(B) $(x - 3 - 2\sqrt{2})(x - 3 - 2\sqrt{2})$
(C) $(x + 3 + 2\sqrt{2}i)(x + 3 - 2\sqrt{2}i)$
(D) $(x - 3 - 2\sqrt{2}i)(x - 3 - 2\sqrt{2}i)$

5. The range of the function $f(x) = e^{tanx}$ for $-\frac{\pi}{2} < x < \frac{\pi}{2}$ is: (A) $y \in R$ (B) $y \ge 0$ (C) y > 0 (D) $0 < y \le 1$

6. The tangent to the curve $y^2 - xy + 9 = 0$ is vertical when:

(A) y = 0 (B) $y = \pm 3$ (C) $y = \pm \sqrt{3}$ (D) $y = \frac{1}{2}$

7. The number of non zero integer solutions of the equation w + x + y + z = 20 is: (A) 969 (B) 1140 (C) 1771 (D) 4845

- 8. The position of a moving object is given by the Cartesian coordinates $(3t, e^t)$. Its acceleration is:
 - (A) constant in both magnitude and direction (C) constant in direction only

(B) constant in magnitude only

(D) constant in neither magnitude nor direction

- 9. The region bounded by the parabolas $y = x^2$ and $y = 6x x^2$ is rotated around the x-axis so that a vertical line segment cut off by the curves generates a ring. The value of x for which the ring of largest area is obtained is:
 - (A) 4 (B) 3 (C) 2.5 (D) 2
- 10. The value of $\lim_{h \to 0} \frac{1}{h} \left(\int_{\frac{\pi}{4}}^{\frac{\pi}{4} + h} \frac{\sin x}{x} \, dx \right)$ is: (A) 0 (B) 1 (C) $\frac{1}{\pi \sqrt{2}}$ (D) $\frac{2\sqrt{2}}{\pi}$

END OF SECTION I

Section II 90 marks Attempt Questions 11-16 Allow about 2 hours 45 minutes for this section

Question 11 (15 marks)

(a) Let $z =$	1+i and	w = 3 + 2i
---------------	---------	------------

(i) Express ^z/_w in simplest form with a real denominator.
(ii) Write z in modulus-argument form.

(b) Simplify $(1 + 2\omega + 3\omega^2)(1 + 3\omega + 2\omega^2)$, where ω is a complex cube root of unity.

- (c) (i) Prove for any two real numbers a and b that $a^2 + b^2 > 2ab$, where $a \neq b$. 1
 - (ii) Hence, or otherwise, prove if a + b + c = 1 then (1 a)(1 b)(1 c) > 8abc 2 where a, b and c are positive numbers and $a \neq b \neq c$.

(d) Evaluate
$$\int_0^1 \frac{dx}{(x+2)(x+3)}.$$
 3

(e) $P(3\cos\theta, 2\sin\theta)$ is a point on the ellipse $\frac{x^2}{9} + \frac{y^2}{4} = 1$ for $0 < \theta < \frac{\pi}{2}$.

The tangent at *P* meets the *y*-axis at *A* and the *x*-axis at *B*, as shown in the diagram below. Find the minimum length of *AB*.

You may assume the equation of the tangent at P is $\frac{x\cos\theta}{3} + \frac{y\sin\theta}{2} = 1$



1

1

3

Question 12 (15 marks) Start a new page

The base of a solid is in the shape of an equilateral triangle of side *b*, with one vertex at the origin (a) and its altitude along the positive x-axis as shown in the diagram below. Each cross-sectional plane perpendicular to the x-axis is a square with one side in the base of the solid.



(i)	Calculate the side length of a square cross-section x units from the origin.	1
(ii)	Find the volume of the solid.	3

Consider the function $y = \frac{3}{5}x^{\frac{5}{3}} - 3x^{\frac{2}{3}}$. (b)

- Find the *x*-coordinate(s) of any stationary points and describe their nature. (i) 3 2
- (ii) Describe the concavity of the function for x < 0.
- Sketch the graph, showing all important features. (iii)
- The diagram below shows the graph of the function y = f(x). (c)



Copy the diagram and neatly sketch the graph of $y^2 = f(x)$ on the same set of axes, showing all important features.

Question 13 (15 marks) Start a new page

(a) A sequence is defined by the formula:

$$U_{\bullet} = 0$$
 and $U_n = \sqrt{U_{n-1} + 2}$ for $n = 1, 2, 3 \dots$
Prove by mathematical induction that $U_n = 2\cos\left[\frac{\pi}{2^{n+1}}\right]$ for $n = 0, 1, 2, 3 \dots$ 4

(b) A 50 kg boy (P) is sitting on the edge of a smooth horizontal circular plate, 3 m in diameter, which is spinning at a constant rate about a vertical axis through its centre C at 20 revolutions per minute. The boy holds onto two separate ropes which are attached to the ends of the diameter (AB) of the plate.

The ropes are such that AP = 1.8 m and BP = 2.4 m. (Given $\angle APB = 90^{\circ}$ and $\angle PAB = \theta^{\circ}$)



- (i) Write motion equations in the tangential and radial directions for the boy.
- (ii) Calculate the tension in the shorter rope.
- (c) (i) Show that the equation of the tangent to the rectangular hyperbola $xy = c^2$ 2 at the point $P\left(cp, \frac{c}{p}\right)$ is $x + p^2y = 2cp$.
 - (ii) The tangent at P meets the x-axis at X and the y-axis at Y and the normal at P meets the lines y = x and y = -x at L and M respectively, as shown in the diagram below.

Prove that *LYMX* is a rhombus provided that $p \neq 1$. You may assume that the equation of the normal at *P* is $px - \frac{1}{n}y = c\left(p^2 - \frac{1}{n^2}\right)$.



3

2



Question 14 (15 marks) Start a new page

(a) (i) Show that
$$\int_{-a}^{a} \frac{x^4}{1+e^x} dx = \int_{-a}^{a} \frac{x^4 e^x}{1+e^x} dx$$
 2

(ii) Hence, or otherwise, evaluate
$$\int_{-2}^{2} \frac{x^4}{e^{x+1}} dx$$
 2

(b) The equation $z^2 + (a + ib)z + m + in = 0$ has one real root, where a, b, m and $n \in R$. Show that $n^2 - abn + mb^2 = 0$.

- (c) Two boys each throw two dice. Each person adds the two numbers uppermost on his dice. What is the probability that they gain an equal score?
- (d) Two circles intersect at X and Y and AB is a common tangent. The lines AX and BY meet at P. The lines AY and BX meet at Q as shown in the diagram below.



(i)	Copy the diagram and show that <i>XPYQ</i> is a cyclic quadrilateral, giving reasons.	2
(ii)	Prove that $QP \parallel AB$.	1
(ii)	Hence, or otherwise, prove that XY bisects PQ.	3

JRAHS Extension 2 Mathematics Trial 2016

3

Question 15 (15 marks) Start a new page

(a) The equation $x^3 - x - 1 = 0$ has roots α , β and γ .

Find an equation whose roots are $\frac{1+\alpha}{1-\alpha}$, $\frac{1+\beta}{1-\beta}$ and $\frac{1+\gamma}{1-\gamma}$ in the form $Ax^3 + Bx^2 + Cx + D = 0$.

(b) A model of part of the roof of a new art gallery is generated by rotating the curves $y = 2^x$ and $4y = 2^x$ from $1 \le y \le 2$ around the line x = 3 as shown in the diagram below.



- (i) Show that the area (A) of a cross-sectional slice of the roof taken at y = h, for $1 \le h \le 2$, is given by the formula $A = 4\pi [2 - log_2 h]$.
- (ii) Calculate the volume of the material required to build the model of this part of the roof. 3
- (c) (i) Given $z^n = (z+1)^n$.

Show that:
$$Z = \frac{1}{\cos\left(\frac{2k\pi}{n}\right) + i\sin\left(\frac{2k\pi}{n}\right) - 1} \quad \text{for } k = 1, 2 \dots 2$$

- (ii) Hence, or otherwise, find the roots of $z^n = (z+1)^n$ in Cartesian form. 3
- (iii) Find the Cartesian equation of the line on which the roots lie.

Question 16 (15 marks) Start a new page

(a) Given
$$I_n = \int_0^1 \frac{x^n}{\sqrt{x+1}} dx$$
, $n = 0, 1, 2, 3, \dots \dots$

(i) Show that
$$(2n+1)I_n = 2\sqrt{2} - 2nI_{n-1}$$
 $n = 1, 2, 3, \dots \dots$ 4

(ii) Evaluate
$$\int_0^1 \frac{x^3}{\sqrt{x+1}} dx$$
 3

(b) A projectile of mass m kg is launched from the origin O at an angle θ° above the horizontal where the air resistance has a magnitude mkv N, v m/s is the speed of the particle and k is a positive constant.

Initially the horizontal and vertical components of its velocity are $U_0 \text{ m/s}^2$ and $V_0 \text{ m/s}^2$ respectively.

(i) Show that the vertical displacement (y m), whilst the projectile is rising, at time t seconds after the launch is given by: 4

$$y = \left(\frac{g}{k^2} + \frac{V_o}{k}\right) \left(1 - e^{-kt}\right) - \frac{gt}{k}$$

where $g \text{ m/s}^2$ is the acceleration due to gravity.

(ii) Find the Cartesian equation of the trajectory of the projectile before it reaches its maximum height.

END OF EXAMINATION

2 multiple choice x2+6>c+1=0 A | 2-3+2il = | 2+3 | $\mathcal{R} = -6\pm\sqrt{36-4}$ 1. |z - (3 - 2i)| = |z - (-3)|= -3±252 (x+3-252) (x+3+252)=0 A line is nerp bisector midpt = (0, -1) h(x)= e - T/2 se c T/2 - greed - (2) tance ER. 0 < f(x) y>0. y - xy+9=0. Zydy - xdy -y = 0 2. Acceleration is indirection dy [2y-x] = y. of motion :. not stop atz = 4 . $3_{0} = \left\{ e^{2\pi} \sqrt{e^{2}-1} dx \quad u = e^{2}-1 \right\}$ verlecal when >c= 2y. y² - 2y² + 9 = 0. -y² + 9= 0 ∴ y= ± 3. $\int e^{\chi} \sqrt{e^{\chi} - 1} e^{\chi} d\chi \qquad d\mu = e^{\chi} d\chi$ В 20005 3 durders mapaces. f (u+1) ui du 19 = 969. flu + u) du X°X°X 3t a acceleration any NO y acceleration derecto

(3) y=x2 $A = \pi \left(r_{2}^{2} - r_{1}^{2} \right)$ = $\pi \left((6x - x)^{2} - 6^{2} \right)$ = TT (6x-x-x) (6x-x+x2) $= \frac{k_{\text{TT}}}{(6x - 2x^2)} \frac{6x}{6x}$ = TT (36x² - 12x³) $dA = \frac{11}{72} (722 - 36x^2) = 0.$ 72 $x = 36x^3 = x \neq 0.$ x = 2.D. limi 1 5 Thath horo h J Thath The dre. (10) = limi $\downarrow = F(T_{a+h}) - F(T_{4})$ $h = 0 h = F'(T_{a+h}) - F(T_{4})$ where F'(x) = Sunx D Altan = dr 17/4 17/4 52 174 -= 4

Q11 Ext 2 Yrla TRIAL wil $(A_{1}) \frac{1}{11} = \frac{1+2}{3t} \cdot \frac{3-2}{3-2} = \frac{5+2}{13}$ non principal augument 9 600 b) $(1+dw+3w^{-})(1+3w+2w^{-})$ = 1+ 3wt 2wit 2wt 6wit 4 wit 9 wit 6 4 Do Not get any marks , $= 14 + 11(W + v^{-}) \qquad (w^{3} = i) \qquad 1m$ = 14 + 11(-1) (w+w^{-} = -1) 1m = 3 just expanding $W^3 = 1 = 1 = 1 = 0 = 1$ 24 mark given when > 3 c7) (a-b) >>> (a = b) simplied and very des to final answer =] Im ath=>2ab like one step away (1-a)(1-6)(1-c)= (btc Xate) (Atb) > (2 Jbc) (2 Jac) 2 Jab) m Some students arrote > any Im > 8 Jabie ARtomatively (b+c)(a+c)(b+a) Im 7 Sabe $=a(b^{+}tc^{-})+U(c^{+}ta^{-})+c(a^{+}b^{-})+2$ d) $\frac{1}{(x+2)(x+3)} = \frac{1}{x+2} - \frac{1}{x+3}$ Im 72ab+2ab+2ab+2abc 11 $\int \frac{dx}{(x+1)(x+3)} = \int \frac{dx}{x+1} - \frac{dx}{x+3} = l_n(\frac{x+1}{x+3}) \int l_m$ 78abc = ln % Im for A & B e) $A = \left(0, \frac{2}{5mb}\right) \quad B = \left(\frac{3}{6mb}, 0\right) \quad I_{m}$ $L^{2} = \frac{4}{(s_{11}b_{1})^{2}} + \frac{9}{(c_{11}b_{1})^{2}} \Rightarrow 2L_{de}^{dL} = -\frac{3c_{11}b_{11}}{s_{11}c_{11}} + \frac{18s_{11}b}{s_{11}c_{11}}$ Im for SP tant= Ji SP when dL $S_{CD} + 6 = 1S_{Sin} + 6$ I_{m} $f = 1S_{Sin} + 6 = 1S_{m} + 6 = 1S_{m} + 1S_{m} +$ im for check may Imi In for conset L = 5 Check max/min IM $SinG = \int_{3}^{2}$, $CS \in \sqrt{3}$ $L = \frac{9}{3} + \frac{4}{5} = 25$ -min L = 1 (200)To get the 3th + 4 mark oc Ocz an not a random shews

1/3 MATHEMATICS: Question 12 Extension 2 3 Suggested Solutions Marks Marker's Comments a)(i)1 B 05/ 4, 02 OA = 136 (Pythagoras) 0 X よ= 元 (Pithagoras) o'o sidelength = Zd side = 23 = 25 (1) $\left(\frac{2\pi}{\sqrt{3}}\right)^2 =$ 42 Area Square = (1) slice = SV = 4x Sx solid = lim Sx >0 50/2 volume lin A Volume 1 seit one mar 53by 41_ 0 JED 46 4h Zaks or 4 353b 9× 353b -36 (1) =

MATHEMATICS: Question. 12 Extension 2 Suggested Solutions Marks Marker's Comments 1/2 2/3 (6) = 15 - 300 Vz data poss. stat. points wh =0 Shidert 0 $0 = \chi$ -1/3 0--1/2 =0 phro one mo 2/3 × - 1/3 dy Jx $d_{21}^{2} = 0.52913 + 0.2645668$ = 0.793696 Men i concave 70 T day da 77 when happens inhat 11) XLO dy Ja 2/2 × dy = 0 at intie poss. 422 3 3 = 0 1+ 01 -0.9 -1-0.0767 0 0.05 at >c=-1 ão concave tor -1 < xUp CORCAVE down

J:\Maths\marking templates\Suggested Mk solns template_Ext 2_all Ls.doc



J:\Maths\marking templates\Suggested Mk solns template_Ext 2_all Ls.doc

MATHEMATICS Extension 2	: Question	
Suggested Solutions	Marks Awarded	Marker's Comments
+) If uo=0 un = Vun+2 N=1,2,3-		pict not need to feet for
Test 40=0		1 but mer de cl
$U_0 = 2\cos \frac{11}{2}$		What for o
= 0 .		
. true for n=0		
Assume true for k=c,1,c,3.		
$U_{12} = 2\cos\left(\frac{t_1}{2^{k+1}}\right)$		
Prove true for n=k+1		
$u_{R+1} = 2 \operatorname{cor}\left(\frac{TT}{2k+2}\right)$		
Now		
$U_{R+1} = JU_R + 2$		
$\sqrt{2} \cos \left(\frac{\pi}{2^{k+1}}\right) + 2$	1	
$= \sqrt{2 \left[2 \cos^{2} \frac{\pi}{11} - 1\right] + 2}$		Needed some
Side $eoclar = 1-2coslat$	1	or clear setting
so $roso = 1 - 2rcs^2 = 2$		0-1.
$= \sqrt{4(cs^2)^2 T_1} - 2 + 2$		
= Zros II zk+L	t	(do-cture
= RHS O CHILC	k.	pmī)
true for h 20 n 22		

C:\Users\Mum and dad\Desktop\Maths JRAHS\a HTM Admin\JRAH M Fac Admin\Assessment info\Suggested Mk solns template.doc

b) //	stion 13	
(')	Marks Awarded	Marker's Comments
(i) Let tensions be Trand T2		
langental (no acceleration)		
$T_2 (OSO - T_1 SINO = 0)$	l	odid not
Radial		get both
$T_2 SI - \Theta + T_1 cos \Theta = M \omega^2 V$	1	nchelear
$M = 50 \omega = 2 \overline{11} = \overline{1}$		what was reclice and to-rephab
$= 2 \pi 1 \times 20$ $= 2 \pi 20$	i.	· Students did net clearly indicate which tension
$\frac{3}{=0.6}$ $\frac{3}{=0.8}$	ł	Equations
$\begin{array}{c} 0.6T_2 = 0.81_1 T_2 = \frac{4}{3}T_1 \\ Radial \\ 0.8x 4T_1 + 0.6T_1 = 100T_1^2 \end{array}$		to set ravy forward errors.
$T_1 = 20 T_1^2 \qquad \exists$ $T_1 = 20 T_1^2 \text{ Neutons}$	1	

C:\Users\Mum and dad\Desktop\Maths JRAHS\a HTM Admin\JRAH M Fac Admin\Assessment info\Suggested Mk solns template.doc

MATHEMATICS Extension 2: Questionした.		
Suggested Solutions	Marks	Marker's Comments
$c)'(i) xy = c^{2}$ $y = c^{2}$ $\frac{dy}{\pi c^{2}} = -\frac{c^{2}}{\pi c^{2}}$ $\frac{dy}{d\pi} = -\frac{c^{2}}{\pi c^{2}}$ $when x = cp$		
$\frac{dy}{dx} = -\frac{1}{p^2}$ $\frac{y - y}{z} = -\frac{1}{p^2} (x - cp)$	(well done.
$p^{2}y - cp = -x + cp$ $x + p^{2}y = 2cp$	i	
(ii) Not to scale M M M M M M M M		

J:\Maths\marking templates\Suggested Mk solns template_V2.doc

MATHEMATICS Extension L: Question	on.13.	
Suggested Solutions	Marks	Marker's Comments
Coordinates L y=>c		
$p_{2}c - \frac{1}{p}g = c\left(p^{2} - \frac{1}{p^{2}}\right)$		stude to did 14 Sumplify and
x = c(p-1)(p+1)(p+1) $x = c(p+1)(p+1)(p+1)$		ended up with we my
$L(c(p+\frac{1}{p}), c(p+\frac{1}{p}))$		· Students didn't
$M: \mathcal{X}(p+1) = c(p^{2}-1)$		roaditions forts
$x = c(p-\frac{1}{p}) y = -c(p-\frac{1}{p})$		- Could also
$M(c(p-\frac{1}{p});c(p+\frac{1}{p}))$		parallelogram with adjacent sides equal
$Midpoint (cp, \leq)$	1	ad dista-ce.
which is p ? . diagonals are normal	1	equal
and tangent in perpendicu	Ċ.	
bisect at right angles	1	

$$\frac{Q(4 \quad F_{x} + 2 \quad \frac{1}{2}, \frac{1}{2} \quad \frac{2}{2}, \frac{1}{2} \quad \frac{1}{2}, \frac{1}{2} \quad \frac{1}{2}, \frac{1}{2}, \frac{1}{2} \quad \frac{1}{2}, \frac{1}{2} \quad \frac{1}{2}, \frac{1}{2}, \frac{1}{2} \quad \frac{1}{2}, \frac{$$

Alternatively
Let
$$f(x) = (1 - e^x) x^4$$

 $f(x) = (1 - e^x) x^4$
 $-f(-x) = (x)^4 (e^{-1}) e^x$
 $f(x) = (1 - e^x) x^4$
 $-f(-x) = (1 - e^x) x^4$
 $-f(-x) = (1 - e^x) x^4$
 $f(x) = (1 - e^x) x^4$
 $f(x) = f(x) dx = 0$
 $f(x) = f(x) dx = 0$
 $f(x) = \int_{-a}^{a} e^x x^4$
 $\int_{-a}^{x} f(x) dx = 0$
 $\int_{-a}^{a} e^x x^4$
 $f(x) = \int_{-a}^{a} e^x x^4$

Im @ for equating real part/ imaginary part Im for final proof

in for sum & product of roots roots A lot of students hink aly I real root

$$\frac{1}{10} - \frac{1}{10} \left(\frac{1}{10} + \frac{1}{10}\right) = \frac{1}{10} \left(\frac{1}{10} + \frac{1}{10} + \frac{1}{10}\right)$$

$$\frac{1}{10} \left(\frac{1}{10} + \frac{1}{10} + \frac{1}{10}\right) = \frac{1}{10}$$

$$\frac{1}{10} \left[\frac{1}{10} + \frac{1}{10}\right] = \frac{1}{10}$$

$$\frac{1}{10}$$



(i) Join XY Let LBAX=>(, LABX=Y Some students LBXP=xty (exterior angle of SABOL. do not know th LBAX=LAYX = x (angle between tagent and chord at point of In contact equals angle in In alternate segment) exact the orem. Sinkerly LABX=LBXX=Y -: LBXP= Layp= x+y : XPY Quis a cyclic quadrilateral m (exterior angle equal opposite interior angle) (ii) Joir PQ LXPQ=LQYX = X (angle at circumpture standing or some are as XPY& 5 cyclic must mention alter angles A : ABIIQP (alternate ayles equal.) -: LBAP=LXAG = >L m iii) Extend YX to ment AB at M, QPatc most students AM² = MX. MY (poduct of intercepts on secants equile to tangent: squared) do not realize this the oren similarly BM=MX.MY r give up. AM2 = BM - AM= BM (AM20, BM20) Im



In DAMY, DACY ABIJQP (proved) CAMY = LOCY (corresponding angles on porallel kora)

Im

Students must show the vatio of corresponding sides of similar triangles to get 1 m not stopping at equiangular.

P.4

2016 Trial E2 MATHEMATICS: Question. 15. Extension 2		
Suggested Solutions	Marks	Marker's Comments
$ (c) \text{lit} m = 1 + \alpha \\ \hline 1 - \alpha \\ m(1 - \alpha) = 1 + \alpha \\ m - 1 = \alpha (1 + m) \\ \hline m - 1 = \alpha \\ \hline m + 1 = \alpha \\ \hline m + 1 $	1	Manadahati Jung Semana ang ang ang ang ang ang ang ang ang
$\frac{a + b + a + codt}{(m-1)^{3}} = \frac{(m-1)}{(m+1)^{3}} = \frac{(m-1)}{(m+1)^{3}} = 0$ $(m-1)^{3} = (m-1)(m+1)^{3} = (m+1)^{3} = 0$	1	
$\frac{m^{2} - 3m^{2} + 3m - 1 + m^{2} + m^{2} - 1 - m - m^{2} - 3m^{2}}{-3m - 1} = 0$ $-m^{3} - 7m^{2} + m - 1 = 0$ $\frac{2quation m x^{2}}{2quation m x^{2}}$ $\frac{2quation m x^{2}}{2quation m x^{2}}$ $\frac{2quation m x^{2}}{2quation m x^{2}}$	1	
	1	A Hagaan sith A Lagaan sith Desension be recessang be even the mat

-

MATHEMATICS: Question..... Extension 2 Marks Marker's Comments Suggested Solutions Note $y = 2^{2} \Rightarrow h = 2^{2}$ log_h = > , => r = 3 - log h Many algebraic methods wer possiste, includin 4y=2 => 4h= Noting $log_{2}4h = 2^{2} = r_{2} = log_{4} + log_{2}h) + 3$ H(C-C)(C+1 Log h 21 $C_1 = C_2^2$ ١ A = T 3-Log_6) - (1+-Log 6)2 TT Fauthy algebra or 9-6logb+(logb) -1+2logb (logb) 11 moused log lans TT (8-4 log h) resulted the conied = 4TT(2-logb) as required enor IF subsequent. Lagic was sound. V=Asy (I) V = fins 417(2 411 - Logzy l x Log 411 4n Lug2 y

J:\Maths\marking templates\Suggested Mk solns template_Ext 2_all Ls.doc

MATHEMATICS: Question Extension 2		
Suggested Solutions	Marks	Marker's Comments
$= 4\pi \left(\alpha + 2 - 2 \log_2 2 + 0 + \int_1^2 \frac{1}{4n^2} dy \right)$ = $4\pi \left(0 + \left[\frac{y}{4n^2} \right]_1^2 \right)$ = $4\pi \left(0 + \left[\frac{y}{4n^2} \right]_1^2 \right)$ = 4π	1	If students made an error in integration by parts, a carried error was awarded
(A + A) = (A + A) $(A + A) = (A + A)$		ents if the process shored progress torrands the end gast and did at simplify the compartentin
$\frac{3+1}{3} = \frac{\sin\left(2\pi\pi\right)}{n} \xrightarrow{R_3} \xrightarrow{DeMaivcas}} \frac{3+1}{3} \xrightarrow{Z \leftarrow in} \left(\frac{2\pi\pi}{n}\right)$ $\frac{1}{12} \xrightarrow{Z \leftarrow in} \left(\frac{2\pi\pi}{n}\right) \xrightarrow{-1}$ $\frac{1}{3} \xrightarrow{Z \leftarrow in} \left(\frac{2\pi\pi}{n}\right) \xrightarrow{-1}$ $\frac{1}{\sin\left(2\pi\pi\right)} \xrightarrow{L \rightarrow in} \xrightarrow{L \rightarrow in}$	1	Qubling DeMoivres theorem was needed to even the second much Simply substanting the result into the given expremines in writter reasoning and earned no muchs

MATHEMATICS: Question..... Extension 2 Suggested Solutions Marks Marker's Comments (1)3= tisin 2th Cos 2th 0 1-25in2 11k -1+ 2isinky (05 kt A dear computational puth needed to 2. Sinth COSTE + junte 5 shown for be Cis The much to be Zisin The (cus The + isin the Cis The h ancaded sin The isin The - CLOTEN n Possible alternatives include $\frac{\binom{2 + 1}{n} - 1}{-\binom{2 + 1}{n}} + \frac{i \sin\left(\frac{2 + 1}{n}\right)}{2\left(1 - \cos\left(\frac{2 + 1}{n}\right)\right)}$ 3= • COS - isin (2km) 2(1-co(2km)) 3= xtig where x is constant 3 ries on the line 200 - 1,

¹⁶ a) i)
$$I_{n} = \int_{0}^{1} \frac{x^{n}}{1xx^{n}} dx$$
, $n \in \mathbb{Z}$, $n \ge 0$

$$= \left[2(x+1)^{\frac{1}{2}} + x^{n} \right]_{0}^{1} - n \int_{0}^{1} x^{n^{n}} + 2\sqrt{x+1} dx - (1)$$
⁽¹⁾ = $2\sqrt{2} - 2n \int_{0}^{1} x^{n^{n}} \sqrt{x+1} dx$
 $= $2\sqrt{2} - 2n \int_{0}^{1} x^{n^{n}} + \frac{x^{n^{n}}}{\sqrt{x+1}} dx$
 $= $2\sqrt{2} - 2n \int_{0}^{1} \frac{x^{n}}{\sqrt{x+1}} + \frac{x^{n^{n}}}{\sqrt{x+1}} dx$
 $= $2\sqrt{2} - 2n \int_{0}^{1} \frac{x^{n}}{\sqrt{x+1}} + \frac{x^{n^{n}}}{\sqrt{x+1}} dx$
 $= $2\sqrt{2} - 2n \int_{0}^{1} \frac{x^{n}}{\sqrt{x+1}} + \frac{x^{n^{n}}}{\sqrt{x+1}} dx$
 $= $2\sqrt{2} - 2n \int_{0}^{1} \frac{x^{n}}{\sqrt{x+1}} dx$
 $= 2\sqrt{2} - 2n \int_{0}^{1} \frac{x^{n}}{\sqrt{x+1}} dx$
 $= 2\sqrt{2} - 2n \int_{n}^{1} \frac{x^{n}}{\sqrt{x+1}} dx$
 $= \frac{2\sqrt{2}}{\sqrt{x+1}} dx = I_{n}$
 $I_{n} = \frac{2\sqrt{2}}{\sqrt{x}} - \frac{6}{\sqrt{1}} \left[\frac{2\sqrt{2}}{\sqrt{5}} - \frac{4\sqrt{3}}{\sqrt{3}} \left[\frac{2\sqrt{5}}{\sqrt{3}} - \frac{2\sqrt{3}}{\sqrt{3}} \right] = \frac{2\sqrt{2}}{\sqrt{3}} - \frac{12\sqrt{2}}{\sqrt{3}} - \frac{14\sqrt{3}}{\sqrt{3}} \left[\frac{2\sqrt{5}}{\sqrt{3}} - \frac{2\sqrt{3}}{\sqrt{3}} \right]$
 $= \frac{4\sqrt{2\sqrt{5}}}{\sqrt{5}} - \frac{4\sqrt{3}}{\sqrt{5}} \int_{0}^{1} \frac{1}{\sqrt{x+1}} dx$
 $= \frac{4\sqrt{2\sqrt{5}}}{\sqrt{5}} - \frac{4\sqrt{3}}{\sqrt{5}} \left[\sqrt{2\sqrt{5}} - 2 \right]$
 $= \frac{4\sqrt{2}}{\sqrt{5}} - \frac{4\sqrt{3}}{\sqrt{5}} \left[\sqrt{2\sqrt{5}} - 2 \right]$
 $= \frac{4\sqrt{2}}{\sqrt{5}} - \frac{4\sqrt{3}}{\sqrt{5}} \left[\sqrt{2\sqrt{5}} - 2 \right]$
 $= \frac{4\sqrt{2}}{\sqrt{5}} - \frac{4\sqrt{3}}{\sqrt{5}} \left[\sqrt{2\sqrt{5}} - 2 \right]$
 $= \frac{4\sqrt{5}}{\sqrt{5}} - \frac{\sqrt{5}}{\sqrt{5}} \left[\sqrt{2\sqrt{5}} - 2 \right]$
 $= \frac{4\sqrt{5}}{\sqrt{5}} - \frac{\sqrt{5}}{\sqrt{5}} \left[\sqrt{5} - 2 \right]$
 $= \frac{4\sqrt{5}}{\sqrt{5}} - \frac{\sqrt{5}}{\sqrt{5}} \left[\sqrt{5} - 2 \right]$
 $= \frac{4\sqrt{5}}{\sqrt{5}} - \frac{\sqrt{5}}{\sqrt{5}} \left[\sqrt{5} - 2 \right]$$$$$$

b)
b)

$$\sqrt{V_{c}^{2}+U_{c}^{4}}$$

 $\sqrt{V_{c}^{2}+U_{c}^{4}}$
 $\sqrt{V_{c}^{2}+U_{c}^{4}}$
 $\sqrt{V_{c}^{2}+U_{c}^{4}}$
 $\sqrt{V_{c}^{2}+U_{c}^{4}}$
 $\sqrt{V_{c}^{2}}$
 $\sqrt{V_{c}^{2}}}$
 $\sqrt{V_{c}^{2}}}$

, ,

.

i) Horizontally:

$$msi = -mku$$

$$si = -ku$$

$$\frac{du}{dt} = -ku$$

$$\int_{0}^{t} dt = -\frac{1}{k} \int_{0}^{u} \frac{1}{u} du$$

$$t = \frac{1}{k} ln \left(\frac{u_{0}}{u}\right) \qquad (1)$$

$$e^{ht} = \frac{u_{v}}{u}$$

$$u = u_{0}e^{-ht}$$

$$\frac{dx}{dt} = u_{0}e^{-ht}$$

$$\frac{dx}{dt} = u_{0}e^{-ht}$$

$$\frac{dx}{dt} = u_{0}e^{-ht}$$

$$\frac{dx}{dt} = e^{-ht} - 1$$

$$e^{ht} = -\frac{hs}{u_{0}} + 1$$

$$e^{ht} = \frac{u_{0}-hs}{u_{0}}$$

$$t = \frac{1}{k} ln \left(\frac{u_{0}-hs}{u_{0}}\right) \qquad (1)$$

Sub into y from i)

$$y = \left(\frac{9}{h^{2}} + \frac{V_{0}}{k}\right) \left(1 - e^{\ln\left(\frac{U_{0} - hx}{U_{0}}\right)}\right) - \frac{9}{h^{2}} \ln\left(\frac{u_{0}}{u_{0} - hx}\right)$$

$$= \left(\frac{9}{h^{2}} + \frac{V_{0}}{k}\right) \left(1 - \frac{U_{0} - hx}{U_{0}}\right) = \frac{9}{h^{2}} \ln\left(\frac{u_{0}}{u_{0} - hx}\right)$$

$$= \left(\frac{9}{h^{2}} + \frac{V_{0}}{k}\right) \left(\frac{hx}{U_{0}}\right) - \frac{9}{h^{2}} \ln\left(\frac{u_{0}}{u_{0} - hx}\right) = \frac{9}{h^{2}} \ln\left(\frac{u_{0}}{u_{0} - hx}\right)$$

· · ii)